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)�µ���¡N·���§¦H49�4�k��º:A!D§¥mü|Ó�Ý�k5�º

:Bi, Ci, i = 1, 2, · · · , 5§Ùë��ª�±P�

ABi, BiBi+1, BiCi, Bi+1Ci, CiCi+1, CiD, i = 1, 2, · · · , 5

Ù¥�IU�5¿Ân).
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ABi, Bi+2Bi−2, Bi+1Ci+1, Bi−1Ci−2, CiCi−1, Ci+2D,

K5US§¤k�¯TÐÚz�*l
L�g.
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k5�*l§#5��¯k2�*l§*léê�31§�´13��¯§zU�õ6é*l
N§Ïd5UØ

U÷v¤k*l�å
L.

�£�K÷©40©¤

ê�{xn}÷vx1 = 0, x2 = 1§��n ≥ 2�

xn+1 =

�
2− 1

n

�
xn − xn−1

¦yµ�3Ã¡õ���êm§¦�xmxm+1 ≤ 0. £�|W øK¤

)�µ̂ �y{©b��kk��m¦�xmxm+1 ≤ 0©@o§�3��êM§¦�m ≥ M�§o

kxmxm+1 >0¤á§�ó�§ê�{xn}l1M�å�ÜÓÒ©-ai =
xi+1

xi
§K�i ≥M�§ai > 0©

d�4íª��

ai − ai+1 =
1

i+ 1
+

(ai − 1)2

ai
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aM − an+1 =
nX

i=M
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i+ 1
+
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(ai − 1)2

ai
>

nX
i=M

1
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®�O´4ABC�	%§M,P,Q´±OA��»��þn:§AM�BC§�MP,MQ©O²LB,C§

2�Q'uBC�é¡:�D.¦yµPD = 2PA. £�|W øK¤

)�µ�BC�¥:N§¿��O3A:���§�BCuK©K∠AKB = ∠AOM = ∠AQM§L

²A,Q,C,K��§ÓnA,P,B,K��.

2�AB�¥:L§K∠AQL = ∠AOL = ∠C = 180◦ − ∠AQK§L²L,Q,K��©Ón§PK²

LAC�¥:©Ïd§KP,KQ´∠AKB��é���.

q�Q'uAK�é¡:E§KP!A!E��§dPK,QK´���§��PD = PE§=y©
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�σ(n)L«��ên�ØÓ�Ïf�Ú.y²µ�3Ã¡õ���ên§¦�σ(n)���²�ê.

£VSk øK¤

©Ûµ

£1¤Únµ�a1, a2, · · · , am´m���ê§�±�Ó§XJa1a2 · · · am�ØÓ�Ïf��ê�um§
@oa1, a2, · · · , am¥�½keZê�È�²�ê.

y²µXJa1, a2, · · · , am¥k�Ó�ê§K(Ø¤á�±eØ��a1, a2, · · · , ampØ�Ó.
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-8ÜS = {a1, a2, · · · , am}§Ø��

a1a2 · · · am = pα1
1 pα2

2 · · · p
αt
t

Ù¥p1 < p2 < · · · < pt��ê§αi ≥ 1, i = 1, 2, · · · , t§ùpt < m.

-W = {A|A�S���f8}, V = {(x1, · · · , xt)|xi = 0½1, i = 1, 2, · · · , t}�ElW�V�N�f .
éz�A ∈W§-

Q
a∈A

a = pβ1

1 p
β2

2 · · · p
βt

t §Ù¥0 ≤ βi ≤ αi, i = 1, 2, · · · , t¶

-f(A) = (β1, β2, · · · , βt)§Ù¥βi = βi (mod 2), βi ∈ {0, 1}§Kf :W → V, f(A) = (β1, β2, · · · , βt)´
��N�§du

|W | = 2m − 1, |V | = 2t ≤ 2m−1 < 2m − 1

l
�3A 6= B ∈W§¦�f(A) = f(B)§Ïd
Q
a∈A

a ·
Q
b∈B

b�²�ê¶

-A ∩B = C,D = (A− C) ∪ (B − C)§KD ∈W§
�
Q
d∈D

d�²�ê§y..

£2¤£��K�y²µw,σ(1) = 1, σ(3) = 22§XJ

n = pα1
1 · · · p

αt
t , p1 < · · · < pt��ê§αi ≥ 1, i = 1, · · · , t

@o

σ(n) =
pα1+1
1 − 1

p1 − 1
· · · p

αt+1
t − 1

pt − 1

AO§σ(p) = p+1§Ù¥p��ê§w,σ(n)�È5¼ê§=é?¿�(a, b) = 1§kσ(ab) = σ(a)·σ(b).
�yµ�3Ã¡õ��ên§¦�σ(n)�²�ê.

�y{µXJ(ØØé§@o�kk����ên§¦�σ(n)�²�ê§Ø��ù
ê�n1, n2, · · · , ns.
-

n1n2 · · ·ns = pα1
1 pα2

2 · · · p
αt
t

ùppiL«1i��ê£'Xµp1 = 2, p2 = 3, p3 = 5¤αi ≥ 0, i = 1, · · · , t§AOαt > 0§*	±e�t

�êσ(pα1+1
1 ), σ(pα2+1

2 ), · · · , σ(pαt+1
t )§��êplL«Ø�uùt�ê����ê§w,pl > pt§@o±

e�l���ê

σ(pα1+1
1 ), · · · , σ(pαt+1

t ), σ(pt+1), · · · , σ(pl) (∗)

¥�ØÓ�Ïf��ê�ul§|^Ún§(∗)¥�½�3eZê�È�²�ê§|^σ(n)�È5¼ê§
l
������ên0§¦�σ(n0)�²�ê§dun0½�p

αi+1
i �Ø§i ≤ t§½�pj �Ø§t < j ≤ l§

Ïdn0 6∈ {n1, n2, · · · , ns}§gñ.
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